PAPER 3 USE OF ENGLISH

General Description Answering

For all parts of this paper candidates write their answers on
Paper Format
an answer sheet.

The paper contains five parts.

Timing
Number of Questions 1 hour 15 minutes.

65.

Marks

Task Types Questions 1-30 and 41-65 carry one mark. Questions

Multiple-choice cloze, open cloze, key word 31-40 carry two marks.
transformations, error correction, word formation.

Part  Task Type Number of  Task Format
and Focus Questions
1 Multiple-choice cloze 15 A modified cloze text containing 15 gaps and
followed by 15 four-option multiple-choice
An emphasis on questions.
vocabulary
2 Open cloze 15 A modified cloze text containing 15 gaps.

Grammar and vocabulary

3  Key word transformations 10 Discrete items with a lead-in sentence and a
gapped response to complete using a given
Grammar and vocabulary word.
4 Error correction 15 A text containing errors. Some lines of the text
are correct, other lines contain an extra,
An emphasis on grammar incorrect word which must be identified.
5  Word formation 10 A text containing 10 gaps. Each gap corresponds
to a word. The ‘stems’ of the missing words are
Vocabulary given beside the text and must be transformed to

provide the missing word.

Page 28

e



PREPARING FOR PAPER 3

The Use of English paper is divided into five parts, each part
being defined in terms of its task type and language focus.

Part 1

In Part 1 candidates must choose one word or phrase from a
set of four (A, B, C, D) to fill a gap in a text. This may
involve choosing ‘leaking’, rather than ‘pouring’, ‘spilling” or
‘flowing’, to fill the gap in: ‘The roof of our tent was .... .” Or
it may mean choosing ‘interested’, rather than ‘keen’, ‘eager’
or ‘enthusiastic’, to fill the gap in: “You may be .... in
applying for this job.” In the first case, candidates have to
know the meaning of the word, but in the second they must
know not just the meaning, but also the preposition and verb
form that follow. In the second example, ‘keen’ is wrong, not
because it has the wrong meaning, but because it does not
fit in with the grammar of the sentence. This part of the
paper also tests fixed phrases and collocations, such as ‘to
pay attention to’ and ‘to take no notice of’, as well as
phrasal verbs, and linkers such as ‘in case’, ‘as long as’,
‘even if” and ‘while’.

In preparing for Paper 3, candidates should be encouraged
to learn whole phrases rather than just individual words.
Vocabulary practice that brings out the differences in
meaning between similar words (e.g. ‘jump’ and ‘leap’) will
also help candidates to prepare for this part of the paper, but
knowing the grammatical patterns and collocations is as
important as knowing the meaning.

As is the case for all texts on Paper 3, Part 1 has a title.
Candidates can make use of the title by thinking about what
it suggests to them, and in this way they can attempt to
predict what they are going to read, which will help them to
understand the text.

Part 2

Part 2 is a modified cloze text containing fifteen gaps, testing
structural and lexical accuracy. A single word is needed to
fill each gap. There may be more than one acceptable word
for a gap, defined by the mark scheme. The absence or
misuse of capital letters and other punctuation is ignored;
correct spelling is required. Learning words and expressions
in context will help candidates in this part of the paper.

Part 3

Part 3 contains ten key word transformations: each question
consists of a prompt sentence followed by a response
sentence of which the beginning and end are given. The gap
must be filled with between two and five words, one of
which must be the key word which is given. This word must
not be changed. In Part 3, a wide range of structures such as
reported speech, passive voice, conditionals, verb tenses as
well as modal verbs are tested. In addition, phrasal verbs
and lexical phrases such as ‘to have difficulty in -ing’, ‘to

take no notice of’, ‘to look forward to -ing’, etc., can be
tested in this format. Any of the words that make up the
phrase may be the key word. Developing an awareness of
parallel and synonymous expressions should be part of
candidates’ preparation for this part.

Part 4

In Part 4 candidates must decide if the fifteen lines of a text
contain a wrong word or not. Most lines contain errors and
they are the sort of errors that FCE level learners typically
make in their writing, such as incorrect auxiliary verbs,
prepositions, pronouns and articles. The text resembles
something that a student at this level might write. The
absence or misuse of capital letters and other punctuation is
ignored; correct spelling is required. In preparation for this
part, candidates can be encouraged to identify and correct
their own or their classmates’ written work, which may help
to improve their accuracy when writing.

Part 5

Part 5 is a word-building task, based on a text with ten gaps.
The types of word-building involve not just the addition of
affixes (e.g. ‘honest’ to ‘dishonesty’), but also internal
changes (‘strong’ to ‘strength’) and compounding (e.g. ‘rain’
to ‘raindrop’). The absence or misuse of capital letters and
other punctuation is ignored; correct spelling is required. To
prepare for this part of the paper, it is best to adopt a
systematic and methodical approach to these different types
of word formation.
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Part 5

For questions 56-65, read the text below. Use the word given in capitals at the end of each line to
form a word that fits in the space in the same line. There is an example at the beginning (0). Write

your answers on the separate answer sheet.

Example:‘ 0 ‘ ability

COMPUTERS THAT PLAY GAMES

Computers have had the (0) ability to play chess for many years now, and
their (56) ..... in games against the best players in the world has shown
steady (57) ..... . However, it will be years before the designers of computer
games machines can beat their (58) ..... challenge yet - the ancient

board game called Go. The playing area is (59) ..... larger than in chess
and there are far more pieces, so that the (60) ..... of moves is almost

(61) ..... . The game involves planning so many moves ahead

that even the (62) ..... calculations of the fastest modern computers

are (63) ..... to deal with the problems of the game.

In arecent (64) ..... for computer Go machines, the best machine beat all
its computer rivals, but lost (65) ..... to three young schoolchildren, so there
is obviously still a lot of work to do!

0102/3 W96

ABLE

PERFORM
IMPROVE

BIG
CONSIDERABLE
COMBINE

END

IMPRESS
SUFFICIENT

COMPETE
HEAVY




PAPER 3 USE OF ENGLISH ANSWER KEY

Part 1
1 C
2 C
3 A
4 D
5 B
6 B
7 A
8 B
9 D
10 D
11 B
12 A
13 C
14 B
15 A
Part 3
31 do you want | to take
32 if/whether | he/she had seen
33 so excited (that) | she could

34
35
36
37
38
39
40

been | out of work/a job

not complete the work | unless

you must | have seen

insisted on/upon I staying

have no/haven’t any/make no | objection to
was written | during her/a

turned down I the/an offer

Part 5

56
57
58
59
60
61
62
63
64
65

performance
improvement
biggest
considerably
combination
endless
impressive
insufficent
competition
heavily

Part 2

16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

had
under/beneath/underneath
well

a

however/though
which NOT that

and

like

know

until/till/before
makes

W/what

but
other/extra/additional
there

Part 4

41
42
43
44
45
46
47
48
49
50
51
52
53
54
55

who
been

some
of

yet
up

from
to

myself

Questions 1-30 and 41-65 are given one mark each, and questions 31-40 are given two marks each. The total score is adjusted

to give a mark out of 40.




PAPER 3 USE OF ENGLISH ANSWER SHEET
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